Assiut University 4th Mathematics Time:3 hours
Faculty of Science Complex Analysis 412M May : 2017
Math. Dept. Instructor: Professor Dr. Mohamed Abd El-Rahman Ahmed

Answer only five of the following questions:

1- a) State and prove a characterization of a complex-valued function to be

analytic in any domain. (2 degrees)
b) Solve the equations:
In(z)= %]n(2)—i47~i, sin(z) = cosh(4), e”*¥ =-1,  cosh(z)=-i. (8 degrees)

2- Show that:

(I)!e"z +e"§£e:'l+ie:i, (1) 22—21;I 2“4"—[2, |2,

g = IZ .
() == l ‘[» o (el (e )aelz)), 7 20, 2,20, 2,20, (10 degrees)
(II/')\:]+22|:‘2,‘+||22l if and only if 6, -0, =2nm; n=0+1%2,..,

where 6 =arg(z,), 6,= arg(z, ),

Whﬂwﬂ“

—

()= /() exists, then it is unique and it equals /'(z,).
T g

[N
[

3- a) ) Write with proof Residue Theorem and Cauchy integral formula.(4degrees)

b) Find Laurent series of the function L for the domain |z| >k, 0<k<1.
— =
¢) Verify that u(x,y)=e*(xcosy - ysiny) is a harmonic function. Also, deduce
the corresponding analytic function. (6 degrees)
4- Is (with details):
(i) }zl —zleH g 1—{ 2 H ¥ Z2, €C, (ii') e’ S‘e"‘"2 \,

2 Yoo Ve e0 20 () Sob . (10 degrees)
(iit) arg[;‘—) =arg(z,) - arg(z,) Vz #0,z, %0, (iv) sinh(iz) = Sinh(—iz),

(v) f'(z,) notexist = Cauchy-Riemann equations at z, are satisfied.
To behind




5- a) Show that the functions f+F, f-F, f.F, —j;—; F(z,)#0 are continuous at

’
the point z, where f, F are continuous at z,. (5 degrees)

b) Let C be a simple closed contour containing the points z =0 and z, =1 taken
in the positive sense and a>0. Using Residue Theorem, exhibit that:

cos"‘(—az+1)

1 V2 1 fa+1) =

dz = — —= == 5d

Z;ri(-[ o) ISCOS(JE) NGl (5 degrees)

6- a) Conclude that the existence of the limit of a complex-valued function f as
z —> z, leads to the limit as z — z, of a function ,/|af|, a~<-1, given by

m(z):z\/m J| £ VzeC. (5 degrees)

~ 2
b) Evaluate | ( 31‘) +22 5 % in the positive direction. (5 degrees)
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Assiut University ; Final Exam $pring 16-17 Date 16/5/2017 :
Faculty of Science ; Course: Cryptography i Level Fourth i ,2 i

Mathematics Dept. Course code: MC466 | Time 2 Hour

Answer Only five questions 10 pt. for each (if you answer all questions last one will be

discarded):
Question 1:

1. Define the following terms:
a. Cryptology
b. Cryptography
c. Cryptanalysis
2. Encrypt the message “we are all together” using a double transposition cipher with 4 rows and
4 columns, using the row permutation (1, 2, 3, 4) — (2, 4, 1, 3) and the column permutation (1,
2,3,4)—(3,1,2,4).

Question 2:
1. Describe the TEA algorithm for encryption and decryption.

2. Using one-time pad, encrypt and decrypt the plaintext (110101010101010010100) with the key
(101001001010101011101)

Question 3:

1. What is the cryptographic objectives?
2. Use a Hill cipher to encrypt the message “we live in an insecure world”. Use the following key

G 7)
Question 4: ’

1. Draw the general structure of one round DES, how many rounds have DES, how big is the key
and how big is the block?
2. Describe the Triple DES with two DES keys.

Question 5:
1. Describe briefly the general structure of AES algorithm.

2. Explain the substitution bytes transformation and add round key transformation of AES 01pher

Question 6:
1. Describe RSA Algorithm.

2. Perform encryption and decryption for the following data. p=11, q=3, e=3 and message="6".

Beot Weskes
Dr. Racha Mabmoud
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Partl: Answer the following questions (20 pts):

1. What are data mining tasks?

2. What is the major tasks in data preprocessing?

3. Why can data be noisy/inconsistent?
4
5

. How to handle noisy data?
. What is data transformation?

Part2: Answer only three of the following questions (10 pts each):
1-The following dataset will be used to learn a decision tree for predicting whether a
mushroom is edible or not based on its shape, color and odor.

Shape | Color | Odor | Edible
C B 1 Yes
D B 1 Yes
D \\% 1 Yes
D W 2 Yes
C B 2, Yes
D B 2 No
D G 2 No
C U 2 No
C B 3 No
C \\ 3 No
D \\ 3 No

Draw the full decision tree that would be learned for this data
2-Given the transactions of Table 1, frequent itemset mining should be performed, using
the frequent-pattern (FP) growth approach and a minimum support of 3.

(a) Construct the FP-tree corresponding to the set of transactions in Table 1.

Table 1: Transaction database

TID List of items
T1 |F,AC D, G I, M,P
T2 |A,B,C,F,L,M, O
T3 |B,F,H,J,O, W

T4 |B,C,K,S,P

TS |AF,C,E,L,P,M, N

(b) Mine the FP-tree according to the FP-growth algorithm. The results should include the
set of frequent patterns generated through the different steps in the analysis.
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3-Cluster the following eight points (with (x, y) representing locations) into two clusters
Al(2, 10) A2(2,5) A3(8,4) A4(5,8) A5(7,5) A6(6,4) A7(1,2) A8(4,9). Initial
cluster centers are: A1(2, 10) and A4(5, 8). The distance function between two points
a=(x1,yl) and b=(x2, y2) is defined as: p(a, b) = [x2 —x1|+ |y2 —y1|.

Use k-means algorithm to find the three cluster centers after the second iteration.

4- Suppose that the data for analysis includes the attribute age. The age values for the data
tuples are (in increasing order) 13, 15, 16, 16, 19, 20, 20, 21, 22, 22, 25, 25, 25, 25, 30,
33,33, 35, 35, 35, 35, 36, 40, 45,46, 52, 70, answer the following.

(a) Use smoothing by bin means to smooth the above data, using a bin depth of 3.

(b) How might you determine outliers in the data?

(c) What other methods are there for data smoothing?

Beor Wiskes
D, Racka Makmoud
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AN ay Final Exam for Level 4

4 Subject: Distributed Computation, MC452
————— Time: 2 Hours
20162617
2naTerm 50 marks
B Date:May,20,2017 R
Answer the following questions (50 marks)

[ R e e s ey mrtn

Q. 1.

Complete the following sentences:
means solving a single problem faster using

Parallel Computer Categories are
........ divide a process into stages to produce several items
simultaneously '
The Extend Compilers Advantages are

(h) A variable defined before the loop whose value is
used inside the loop, but never assigned inside the loop

..................

A task is , if a task tries to receive a value at an input
port and the value isn’t available.

The of a parallel algorithm is the period of time a task
: is active.

Q.2

a) After running thiscode, what are the type and the value of each
y_griab@ (7 marks)
Li) d=0; idx=0;
parforidx=1:4
d=idx*2;

spmd(4)
if labindex==1
a=rand(2,2)

ii)

|

i a(idx)=d; else
i end a=rand(1,1)
i end

‘ end

b) Binary Tree Network interconnection network with n = 2 processor
nodes, 2n-1 switches.Define and compute the diameter, bisection width,
edges / node and constant edge length(6 marks)

Assiut University

[ (10 marks)

| (13 marks)
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a) Write the purpose of each command in the following code (6 marks)
pmode start
if labindex == '
A = labBroadcast(1,magic(numlabs))
else
A = labBroadcast(1)
End
column_sum = sum(A(:,labindex))
total_sum = gplus(column_sum)
y=codistributed(A)

¢ = gather(y)

b) How does agglomeration improve performance and scalability in
IFoster’s algorithm(8 marks)

Q. 4.
a) What is thc Cache-coherence Problem and how the Directory-based
Protocol solves it? (4 marks)
b) What are the differences between (6 marks)
I.  Shared and Switched Media Interconnection Networks
II.  Data Parallelism and Functional Parallelism

¢) Which code executed faster and why?(3 marks)

r=magic(1500) g=zeros(1,16)

| g=zeros(1,16) parforidx=1:16

' parforidx=1:16 r=magic(1500)
g(idx)=rand*max(eig(r)) g(idx)=rand*max(eig(r))
end end

L

(]4 marks)

(13 marks)

Best Wishes,Dr. Hanaa A. Sayed
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Faculty of Science Operation Research 426R June: 2017

Math. Dept | Computer Science Section Time:3 hours

( Total Degree : 50 Points )

Answer 4 Questions only from the following:

1-a) Derive the necessary and sufficient conditions for the given problem

Min f(_yg) ,XxeR™ , where f(x) is a continuous and differentiable

function for all needed order (6.5 Points)
-b) Find the extreme points»'iof ¢he function
f(gc_) =x3+ x5+ 2x2 +4x5+6 (6. Points)

2-a) Given the following problem
Min f(x) Subjectto gi(x) ,xeR* ,j=12,.m (6.5 Points)

Derive the necessary condition of the constrained variation method and then

derive the LaGrange multiplier method
-b) Use the Lagrange multiplier method to solve
Minimize f(x ) = x} + x; — 3x1%2
Subjectto g(x)=xf+x;=8 (6. Points)

_3-a) Derive the necessary and sufficient conditions for the given problem

Min f(x) ,xeR" , where f(x) is a continuous and differentiable

function for all needed order (6. Points)

See Next Page




-b) Find the extreme points of the function

f(x) =x3 +x3 + 2x:+4x3+6 (6.5 Points)

Use the derived conditions to evaluate the extreme points of

f(x)=x3+x3 +3xf -3x5 -8 (6. Points)

4-a) State the rth differentiation of the function f( x ), x € R™ ifall partial
derivatives of this function through order > 1 are exist and continuous at
a point x™, (6. Points)

-b) Use the rt_h_ differentiation of the function f(x ), x € R" to determine
the Taylor series of f( gc_) about x* and then find the second-order Taylor
series of the function f( _35) =9£§x3 + x%\/}; about the point [1, 3,4]*

(6.5 Points)

5) Find the gradient vector Vf and the Hessian matrix H of the function
F(x) = x4 + 23 + x5 — x2 —x} — x3 at the point (1,3,4), and then find
if the Hessian matrix is positive definite matrix, negative definite matrix
or non ' (12.5 points)

‘Best Wishes

Taha Elgindy Kareem Elgindy
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Answer five questions only :
1-a) Use the Modified Euler method with h=0.5 to obtain the difference equation, for
the following initial-value problem, and find the actual error at t=1.0:

y' =te3t =2y, 0<t<1, y(0)=0,

1 1 1
(actual solution y(t) = < te3t — i e3t + 2—5—e‘2t)

1-b) Use Euler's method with h=0.2 to obtain the difference equation, for the initial-
value problem:
y =y—t2+1,0<t<2 y(0)=05,with|y'|<M=05e*-2.

And prove that the error bounded is given by:
Picw] S5 (9 =1),  i= 01 10,

2-a) Derive the three — step Adams — Bashforth method for solving the initial —
value problem: y' = f(t,y), a<t<b, y(a) = a, and show that the local

: : 3 _»
truncation erroris = y () h3.

2-b) Find the first two iterations of the Gauss-Seidel method for the following system
3x; —x;+x3=1, 3x; +3x%+7x3=4, 3x,+6x;+2x3=0,
using X© = (0,0,0)®

3-a) By using shooting method verify that the equation:

. B —y(b)
Ax(t) + (1 = Dy(t) with A = —~———<
(6 + (1= Dy® s
Gives the solution of the boundary value problem:
x =ul) +v®x +wt)x, x(a)=«, x(b)=p

3-b) Use the linear shooting method to list the ways it can be solved the boundary
value problem: x =ef—3sint+x'—x, x(1)=11, %(2) = 8.7

And write the system arising from this method with component of the solution at
each t.

...... 455l Cala il




4) Consider the. two — point boundary value problem :
x =-x, x(0)=0, x(1) =1

Set up and solve the tridiagonal system arising from the finite — difference method

when h=0.25 . Explain any differences from the analytic solution.

x(3) = 0.29401, x(3) = 056975, x (3) = 0.81006.

4 2 4

5) Derive the systems arising from Forward difference method and Grank- Nicolson
method at any point (x;, t;) to the heat equation:

du(x,t)  9%u(x,t)
o ox* '

u(0,8) =u(l,0) =0, u(x,0) = sin(mx), Xizp, ;=1

6) Derive the scheme arising from the finite difference method to the wave equation

FPu(xt) _ d%u(xt)
ax2 a2

, 0=sx<1, t=20, ulx,0) =sin(mx), x; = ih t; = jk,

Jdu(x,0) 1
a4

u(0,t) = u(1,t) =0, sin(2mx),

and the points (x;, tj)on the interval[0,1]
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1) Find the general solution for each of the following partial differential equations :

a) Zyy + Y Zyy —6y: 2y = y 1z,

" 8% z 0z 1/1
) dy2 9y x

;—1>z=xy2—x2y2+2x3y—2x3.

2 - a) By Charpit's method find the complete integral of the nonlinear equation :

ZFo3 o o3 _ 8z az
z°(p“+q“+ 1) =1, where P=5-,q= %y

b) Apply Jacobi's method to obtain the complete solution of the nonlinear equation :

) )
X1+ X3 + X3p3 (py + pz) =0, where p1=—z,pzz—Z

aXl

_az
P3 = ——

ax, ’ ox3

3 - a) Use the method of Laplace to find the general solution of the linear equation :

XZ azz 2 aZZ X 0z 9z _ XZ
0 x2 y ay? 9 x yay - )

b) By the method of Euler find the general solution of the linear equation :

4 - a) By applying Monge's method obtain the general solution of the nonlinear
equation :

2 2 2
2 0°z _ 2 0“z 2 0“z = 0
9 0 x2 pqaxay+ p 9y? )
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b) By applying Monge's method find the general solution of the nonlinear equation :

BZyy— 6Zyy + 4 Zyy — (Zyy Zyy — zﬁy)’=3.

5- a) Use the Laplace transform to give the bounded solution of the equation :

ay

— o 9y
™ =2 " +y, where x>0, t >0,

with the condition y(x,0) = 6 e~ 3t.

¢ e Adshy Johdaag r A e (uilaia Jsa g ol Jal (%, y) Le Akl die @ 5 adl da slay) i gliadll (b-5
T LS g B iliaca Ay i jall Alal) cuils 1)
i) 6(0,y,t)=0 @) eo(myt)=0
(iii) }l_)l{.lo 0x,y,t) =0 (iv)ex,0,t) =1.
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Answer the following questions: (50 Marks)
I. Choose the correct answer and write it in the answer table: (20 Marks)

1. Every letter in a Java keyword is in lowercase?

(a) true (b) false

2. Which of the following is a valid identifier?

(a) 849 (b) class (c) 9X (d) radius

3. Which of the following is a correct way to declare variables?

(a) int length; int width; (b) int length, width;  (c) int length; width; (d) int length, int width;

4. Which of the following assignment statements is incorrect?

(a)i=j=k=1; byi=Lj=Lk=1 ©i=1=j=1=k=1; (d)i==j=k==1,

5. A block is enclosed inside ...............

(a) parentheses (b) braces (c) brackets (d) quotes

6. 1f a program compiles fine, but it produces incorrect result, then the program suffersa ...... error

(a) syntax (b) runtime (c) logic (d) style

7. Math.pow (4, 1 /2) returns ................

(a) 0 (b 1 (c)2.0 (d)1.0

8. .........is the Java assignment operator.

(a) == (b) = (c)= (&)=

9. I.et A=1. What are B and A after evaluating the expression int B = A-++;

(a) 1.2 (b) 2,2 (c) 2,1 (d) 1,1

10. What is the value of (double)(5/2)?

(a) 2 b25 (©3 (d) 2.0

11. Which of the following is a possible output from invoking Math.random()?

(a) 3.43 (b) 0.5 (©1 (d) 1.0

12. Assume x = 4 and y = 5, which of the following is true?

(a)x<5&&v<5 byx<5|ly<5 )x>5&&y>5 (dx>5)|ly>5

13. If x=10 and y=10. What is the value of x after evaluating the expression (y > 10) && (x++ > 10)?

(a)9 (b) 10 (c) 11 (d) 12

14. To improve readability and maintainability, you should declare ........... instead of using literal (e.g. 3.14159)

(a) classes (b) constants (c) methods (d) variables

15. Which of thesc data types requires the amount of memory?

(a) int (b) long (c) short (d) byte

16. What is the value of x after executing the following statements? intx =2; inty=1; x *=y + 1;

(a) xis 1. (b) xis 3. (c) xis 2. (d) xis 4.

[1. Which of the following is a possible output from invoking (int)(Math.random() *10)?

(a)3.43 (b) 8.0 ()7 . (d) 10.0

18 25 %1 18 s v v

(a) 1 (b) 25 ()2 (d)o

19. What are x, y and z after executing double x = 1.0; double y = 5.0; double z = x--+ (++y);

(a) 1.0,6.0, 7.0 (b) 0.0, 6.0, 7.0 (¢) 1.0,5.0, 6.0 (d) 1.0,5.0,6.0

20. What is the value of (double) 5/27

(a)2 (b) 2.5 ()3 (d) 2.0
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(10 Marks)

II. Write the output of the following blocks of code:

No

Code

1.

for (int i = 1; i <= 10; i++) {
System.out.print(i*i + " ");
it

Output

}
. |double[] myList = {1, 5, 1, 5, 5,1}

double min = myList[0];
int indexOfMin = 0;
for (int i = 1; i < myList.length; i++) {
if (myList[i] <m) { :
min = myList[i];
indexOfMin = i;
}
}

System.out.println(indexOfMin);

.| public class Test {

public static void main(String[] args) {
inti=1; '

do {

int num = 1;

for (int j= 1;j <= i j*+) {
System.out.print(num + "K");

num += 2;

}
System.out.printIn();
i+t

} while (i <= 3);

}
}

. |public class Test {

public static void main(String[] args) {
int list[] = {1, 2, 3,4, 5, 6};

for (int i = 1; i < list.length; i++)

list[i] = list[i - 11;

for (int i= 0; i < list.léngth; i++)
System.out.print(list[i] + " ");

) o

'}

inti=1;

while (i < 10)

if ((i++) % 2==0)
System.out.prihtln(i);

for (inti=1;i<4; it++) {
for (int j=1;j < 4; j*++) {
if(i*j>2) '
break;

System.out.println(i * j); -
}
System.out.printIn(i);

} ,

. |System.out.println("1" + 1 + 1);




. |int sum = 0;

sum +=4.5;

int y = (int)sum;

sum = (int)(sum + 4.5);

System.out.println("x is "+ sum+"and yis " + y);-

. lint number=20;

if (number % 2 == 0)

System.out.println(number + " is even");

if (number % 5 ==0)

System.out.println (number + " is multiple of 5");

10.

int x, y;
x=1;
y=2

System.out.printIn("The output is " +x +y);
System.out.println("The outputis " + (x +y) );

II1. Underlixie the error in each block of code below and correct it: (10 Marks)
No Code Correction
1.1
int even,

if (even == true)
System.out.println("It is even.");

. |public class ShowErrors {

public static void main(String[] args) {
int i;

int j=35;

if (j > 3) System.out.println(i + 4); .

} S

}

. [public class Test {

public static void main(String[] args) {
double[100] r;

for (int i = 0; i <r.length(); i++);

r(i) = Math.random * 100;

} ° R ’

}

. jint i=0;

while (i < 10);
( .
System.out.println("i is " + i);
i+t

}

. |if (radius >= 0)

area = radius * radius * PI;
System.out.printin("The area "+ " is " + area);




IV. Write Java programs for the following: Cote (10 Marks)
4

1. Write the methods with the following headers

// Return the reversal of an integer, i.e., reverse(456) returns 654

public static int reverse(int number)

// Return true if number is
public static boolean

a palindrome
isPalindrome (int number)

Use the reverse method to implement isPalindrome. A number is a palindrome if its reversal is the same as
itself. Write a test program that prompts the user to enter an integer and reports whether the integer is a

palindrome.



2. Write a program that reads ten numbers and displays distinct numbers (i.e., if a number appears multiple

times, it is displayed only once). (Hint: Read a number and store it to an array if it is new. If the number is

already in the array, ignore it.) After the input, the array contains the distintt numbers.

—— With Our Best Wishes ==
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Answer the following questions: (50 Marks)

1. Give NFAs with the specified number of states recognizing each of the following languages.
In all cases, the alphabet is 2 = {0,1}. (10 Marks)
a) Thelanguage {w € ¥ " |w ends with 00 } with three states.
b) The language {w € ¥ " |w contains the substring 0101,i.e., w = x0101y for some
X,y €Y ©} with five states.
c) Thelanguage {w € ¥ " |w contains at least 0s, or exactly two 1s forsome,y € ¥, " }
with six states.

2. Give regular expressions that generate each of the following languages. In all cases, the
alphabet is Y = {a, b}. (10 Marks)

a) Thelanguage {w € Y *||w| isodd}.

b) The language {w € ¥, | w hasan odd of a's}.

c) Thelanguage {w| w contains at least two a’s, or exactly two b’s } .

d) Thelanguage {w € Y, *! w ends in a double letter} (A string contains a double letter if

it contains aa or bb as a substring.)
e) The language {A, a, b, ab,abb, abbb, ... ....,ab", .....}

3.a Give a regular expression for the language recognized by the following DFA: (10 Marks)

3.b Consider the following grammar G:

S — SAB|A
A - adla
B — bB|A



(a) Give a leftmost derivation of abbaab. ’
(b) Build the derivation tree for the derivation in part (1).
(c) What is L(G) i.e. (Give a regular expression for L(G) )?

¢, Prove that: - (10 Marks)

a) (S+T)R=SR+TR.Where,R,S,and T are regular expressions.
b) L(¢ + a + b)" = L(a*(ba®)")

¢) a*(b +ab*) = b+ aa’b”

d) L(a + bc*) ={a,b,bc,bc?, .....,bc", ...}

5.Let L = {A,abb,b}and M = {bba,ab, a}. Evaluate each of the following language
expressions. (10 Marks)

a) L.M

by L. M*

c) (L*.M*)

d) (LUM) =L UMY
e) L.(M.L)" = (L.M)".L

=== With My Best Wishes ===
Dr. Alaa F. Mohamed
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Answer the following questions: ‘ (50 Marks)
1. Write True OR correct the underline text ONLY if it is not correct in the brackets in each of the
following: (10 marks)

[ ] 1. Sometimes we will discard a lexeme rather than storing it for later use.
[ ] 2. In LR(1) parsing algorithm, If action [state, t] is reduce A — then shift the input and set

state = goto [state, t].

[ 1 3. Any LL(1) grammar is LR (1). ,
[ ] 4. Two LR(1) items have the same reduction if they are identical except for lookahead.
[ 1 5. Leftmost BFS works on grammars without left recursion.
[ ] 6. AIILR (1) grammars are LALR (1).
[ 1 7. Some tokens might be associated with lots of different lexemes.
[ ] 8. SLR (1) is - weak because it has no contextual information.
[ I 9. A shift/reduce conflict is an error where a shift/reduce parser cannot tell which of many
reductions to perform.
[ ] 10. LR (0) only accepts languages where the handle can be found with no left context.
2. Write the scientific term: - (20 marks)

Definition Scientific term

An enumerated type representing what logical entity we read out of the source code.

A strict superset of the regular languages.

W

. Beginning with the start symbol, try to guess the productions to apply tc end up at the

user's program.

Move a terminal across the split.

Match the longest possible prefix of the remaining text.

Identify the meaning of the overall structure.

A set X of symbols that act as letters.

RIS~

Guess which production should be inverted.

9.

A state where we know we have found the handle, but can't tell which reduction to apply.

10.Design one possible structure.

11.A family of descriptions that can be used to capture certain languages
12. A formalism for defining languages. :

13.Pick the rule that was defined first.

14.Marks the end of a line.

15. An abstract representation of a program's syntax.

16.The leftmost complete cluster of leaf nodes.

17. The theorem that correctly computes LALR(1) lookaheads.

18. Rule that matches any character and reports an error.

19. Extra information derived from the text, it can be a numeric value.

20. Recover the structure described by a series of tokens.

1]4




3. (a) Consider the following grammar:
S>A :

AD>A+A|B++
B>y
Write the derivation and draw a parse tree for the input y+++y++

F

(b) Give the reasons for the following:

1. Merging LR(1) states cannot introduce a shift/reduce conflict.

(5 marks)

(5 Marks)

2. LR (1) is impractical.

3. LR (0) is Weak.

4. We can’t know which productions to apply in Top-Down Parsing.

2|4



4. (a) Convert the following NFA to DFA : ’ (5 Marks)

sta




(b) Given the following grammer:

E-F

E-E+F

F>F*T

F-T

T — int .

Use the LL(1) algorithm to derive int+ int*int + int

=== With My Best Wishes ===

Id

Dr. Dalicv Neusshat

(5 Marks)
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